

Houghton Mifflin Harcourt

Proposal

Prepared For

San Pasqual Union Sch District

15305 Rockwood Rd Escondido CA 92027

Attention:
Rhonda Brown
rhonda.brown@sanpasqualunion.net

For the Purchase of:

HMH Science Dimensions

Prepared By
Jill Kenny
jill.kenny@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for Professional Services purchased, must be submitted at least 30 days before the service event date.

Attention: Rhonda Brown rhonda.brown@sanpasqualunion.net

HMH Confidential and Proprietary

Proposal for San Pasqual Union Sch District

Expiration Date: 8/5/2021

Value of All **ISBN** Price Quantity **Materials Grade K** Student Resource Package 1722725 9781328532473 2020 California Science Dimensions Premium Student Resource \$84.42 55 \$4,643.10 Package 8 Year Print/8 Year Digital Grade K Package Includes: California Student Edition Interactive Worktext 8 Year Print Grade K California Student Online Interactive Digital Curriculum 8 Year Grade K ScienceSaurus Student Edition eTextbook ePub 8 Year Digital Grade K-1 Common Cartridge product package available upon request for no additional charge: 1 unit 9781328537379 California Common Cartridge 8 Year Digital Grade K **Total for Student Resource Package Teacher Resource Package** 1722757 9781328534668 2020 California Science Dimensions Premium Teacher Resource \$503.88 3 \$1,511.64 Package with 8 Year Digital Grade K Package Includes: California Designated ELD Student Workbook Grade K (30) California Teacher Edition Grade K California Teacher Digital Management Center 8 Year Grade K California Designated ELD in Your Science Classroom Teacher Guide Grade K Multilingual Glossary Grade K-6 California Science & Engineering Leveled Reader Complete Set of 6 Grade K ScienceSaurus Handbook (Hardcover) Grade K-1 (6) California Assessment Guide Grade K

unit 9781328537379 California Common Cartridge 8 Year Digital Grade K

Common Cartridge product package available upon request for no additional charge: 1

Total for Teacher Resource Package

Total for Gra	ide K			\$6,154.74		
Student	Grade 1 t Resource	e Package				
Packe Califo Califo Scien Comn unit 9	ornia Student nceSaurus St mon Cartridg 97813285373	2020 California Science Dimensions Premium Student Resource Package 8 Year Print/8 Year Digital Grade 1 : Edition Interactive Worktext 8 Year Print Grade 1 t Online Interactive Digital Curriculum 8 Year Grade 1 tudent Edition eTextbook ePub 8 Year Digital Grade K-1 te product package available upon request for no additional charge: 1 86 California Common Cartridge 8 Year Digital Grade 1 Resource Package	С	\$95.20	47	\$4,474.40
Teache	r Resourc	e Package				
Packa Califo Califo Califo Multili Califo Scien Califo	ornia Teache ornia Teache ornia Designa ingual Gloss ornia Science aceSaurus Ha ornia Assessa mon Cartridg	2020 California Science Dimensions Premium Teacher Resource Package with 8 Year Digital Grade 1 : ated ELD Student Workbook Grade 1 (30) r Edition Grade 1 r Digital Management Center 8 Year Grade 1 ated ELD in Your Science Classroom Teacher Guide Grade 1 ary Grade K-6 a Engineering Leveled Reader Complete Set of 6 Grade 1 andbook (Hardcover) Grade K-1 (6) ment Guide Grade 1 e product package available upon request for no additional charge: 1 886 California Common Cartridge 8 Year Digital Grade 1	c	\$509.41	2	\$1,018.82

Attention: Rhonda Brown rhonda.brown@sanpasqualunion.net Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 Date of Proposal: 6/21/2021

Proposal for San Pasqual Union Sch District

Expiration Date: 8/5/2021

ISBN

Title

Price

Quantity

Value of All Materials

Total for Teacher Resource Package

Total for Grade 1		\$5,493.22		
Grade 2 Student Resource Package				
1722727 9781328534569 2020 California Science Dimensions Premium Student Resource Package 8 Year Print/8 Year Digital Grade 2 Package Includes: California Student Edition Interactive Worktext 8 Year Print Grade 2 California Student Online Interactive Digital Curriculum 8 Year Grade 2 ScienceSaurus Student Edition eTextbook ePub 8 Year Digital Grade 2-3 Common Cartridge product package available upon request for no additional charge: 1 unit 9781328537393 California Common Cartridge 8 Year Total for Student Resource Package Teacher Resource Package	c	\$95.20	58	\$5,521.60
1722759 9781328534682 2020 California Science Dimensions Premium Teacher Resource Package with 8 Year Digital Grade 2 Package Includes: California Designated ELD Student Workbook Grade 2 (30) California Teacher Edition Grade 2 California Teacher Digital Management Center 8 Year Grade 2 California Designated ELD in Your Science Classroom Teacher Guide Grade 2 Multilingual Glossary Grade K-6 California Science & Engineering Leveled Reader Complete Set of 6 Grade 2 ScienceSaurus Handbook (Hardcover) Grade 2-3 (6) California Assessment Guide Grade 2 Common Cartridge product package available upon request for no additional charge: 1 unit 9781328537393 California Common Cartridge 8 Year Digital Grade 2 Total for Teacher Resource Package	c	\$509.41	3	\$1,528.23

Total fo	or Grade 2			\$7,049.83		
St	<u>Grade 3</u> tudent Resourc					
1722728	California Studen ScienceSaurus S Common Cartrido unit 97813285374	t Edition Interactive Worktext 8 Year Print Grade 3 t Online Interactive Digital Curriculum 8 Year Grade 3 tudent Edition eTextbook ePub 8 Year Digital Grade 2-3 ge product package available upon request for no additional charge: 1 409 California Common Cartridge 8 Year	c	\$105.97	66	\$6,994.02
	eacher Resourc	Resource Package e Package				
1722760	California Teache California Teache	ated ELD Student Workbook Grade 3 (30) er Edition Grade 3 er Digital Management Center 8 Year Grade 3 ated ELD in Your Science Classroom Teacher Guide Grade 3	c	\$537.03	3	\$1,611.09
		Attention		Custo		

Attention: Rhonda Brown rhonda.brown@sanpasqualunion.net

Date of Proposal: 6/21/2021

Proposal for San Pasqual Union Sch District

Expiration Date: 8/5/2021

ISBN Title

Price

Quantity

Value of All Materials

California Science & Engineering Leveled Reader Complete Set of 6 Grade 3 ScienceSaurus Handbook (Hardcover) Grade 2-3 (6) California Assessment Guide Grade 3

Common Cartridge product package available upon request for no additional charge: 1 unit 9781328537409 California Common Cartridge 8 Year Digital Grade 3

Total for Teacher Resource Package

Total for Grade 3			\$8,605.11		
<u>Grade e</u> Student Resource					
California Stude ScienceSaurus (Common Cartric unit 9781328537	2020 California Science Dimensions Premium Student Resource Package 8 Year Print/8 Year Digital Grade 4 s: nt Edition Interactive Worktext 8 Year Print Grade 4 to Online Interactive Digital Curriculum 8 Year Grade 4 Student Edition eTextbook ePub 8 Year Digital Grade 4 ge product package available upon request for no additional charge: 1 416 California Common Cartridge 8 Year	c	\$105.97	65	\$6,888.05
Teacher Resour	ce Package				
1722761 9781328534705 Package Include California Design	2020 California Science Dimensions Premium Teacher Resource Package with 8 Year Digital Grade 4 s: nated ELD Student Workbook Grade 4 (30) er Edition Grade 4	С	\$537.03	2	\$1,074.06

Total for Teacher Resource Package

Total for Grade 4			\$7,962.11		
			ψ1,00 2 .111		
<u>Grade 5</u> Student Resourc					
California Studer ScienceSaurus S Common Cartrid	2020 California Science Dimensions Premium Student Resource Package 8 Year Print/8 Year Digital Grade 5 s: at Edition Interactive Worktext 8 Year Print Grade 5 at Online Interactive Digital Curriculum 8 Year Grade 5 student Edition eTextbook ePub 8 Year Digital Grade 5 ge product package available upon request for no additional charge: 1 423 California Common Cartridge 8 Year	С	\$115.36	52	\$5,998.72
Total for Student	Resource Package				
	· ·				
1722762 9781328534712	2020 California Science Dimensions Premium Teacher Resource Package with 8 Year Digital Grade 5	С	\$531.51	2	\$1,063.02

Attention: Rhonda Brown rhonda.brown@sanpasqualunion.net

Date of Proposal: 6/21/2021

Proposal for San Pasqual Union Sch District

Expiration Date: 8/5/2021

ISBN

Title

Price

Quantity

Value of All Materials

Package Includes:
California Designated ELD Student Workbook Grade 5 (30)
California Teacher Edition Grade 5
California Teacher Digital Management Center 8 Year Grade 5
California Designated ELD in Your Science Classroom Teacher Guide Grade 5
Multilingual Glossary Grade K-6
California Science & Engineering Leveled Reader Complete Set of 6 Grade 5
ScienceSaurus Handbook (Hardcover) Grade 4-5 (6)
California Assessment Guide Grade 5

Common Cartridge product package available upon request for no additional charge: 1 unit 9781328537423 California Common Cartridge 8 Year Digital Grade 5

Total for Teacher Resource Package

Total fo	or Grade 5		\$7,061.74		
4700700		ional Development			
1726762	9781328567901	California Science Dimension Getting Started Live Online 2-Hours Grades TK-6	\$800.00	1	\$800.00
1726863	9781328567727	California Science Dimension Follow-Up Live Online Bundle 4 1-Hour Grades TK-6	\$1,400.00	1	\$1,400.00
Total fo	or Professiona	I Development	\$2,200.00		

 Total Savings:
 \$0.00

 Subtotal Purchase Amount:
 \$44,526.75

 Shipping & Handling:
 \$0.00

 Sales Tax:
 \$3,280.34

 Total Cost of Proposal (PO Amount):
 \$47,807.09

Attention: Rhonda Brown rhonda.brown@sanpasqualunion.net

Proposal for San Pasqual Union Sch District

Expiration Date: 8/5/2021

Total Cost of Proposal (PO Amount): \$47,807.09

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, high-quality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- · Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to:

Sold to:

San Pasqual Union School District

San Pasqual Union School District

- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 6/21/2021 Proposal Expiration Date: 8/5/2021



Houghton Mifflin Harcourt

Attention: Rhonda Brown rhonda.brown@sanpasqualunion.net